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Answer question no. 1 and any four questions from the rest.
1. Answer anmy five questions : , 2%5
(2) Explain the rules 10 determine a saddle point.
(b) Why are artificial variables required in a LPP?
(c¢) What are the essential characteristics of linear programming model?
(d) What is an unbalanced transporation problem? /
() What do you understand by initial basic feasible solution?
(f) Define degeneracy in the context of transporation problem.
(g) Explain North-West corner rule for a transportation problem.
(h) Describe the pivot operation in the Simplex method.

2. (a) Solvethe following problem using graphical method :

Maximize Z = 3x, +4x,
Subject 10 X +x, <5 =
0<x <4
0<x,<3
WH ) 24
(b) What is & zero-sum game? 5
3. (2) Define artificial variable, d
(b) Use Simplex method 1o fiq e .0.we need them? | e
aximi 7 Iy H > pI .
Maximize =2, Mlial bagje feasible solution of the following Pt
Xyt
Xl + 3)(2 1_2 2 5X3_x4
X154
1 3)(31 ?
Xy, x X< 248
Xy
420
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: blem to a dual problem.
4. (a) Write down the siteps fvolved in converting a pnmal pro : S

(b) Construct the dual of the following primal problem - 6+4
Maximize Z = 5x;+ 6x,+ 4x3
Subject to Xy +2xy+x3 <10

2x;—Xxp+ 3x3=8
x|, X5, X3 20

m? What is the difference between balanced and

5. What is the basic structure of a transportation proble ! )
rtation problem using north-west corner rule.

unbalanced problem? Obtain initial feasible solution of transpo

Source Destination Supply
A B C
1 2 7 4 5
2 3 3 1 8
3 5 4 7 7
4 1 6 2 14
Demand 7 9 18 2+2+6

6. (a) Explain formally an assignment problem.
(by Find the initial basic feasible solution for the assignment problem with the following matrix using
Hungarian method.

Location
3.7.4
8 [15
11| 5
16 | 11

13 |12 248

Persons

7. Consider the following two-person zero-sum game :

B, B, B;
A [5.0[60]7.0
A,[10]20]01
A;[90[10]90

s 4 . b2 .
(a) Verify that the strategies (%,0%) for A and (339;,%,0) for B are optimal or not. Then determine

the value of the game.
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(b) Show that the optimal value of the game equals > Dapx%y;. 6+4
i=1 j=1
8. (a) What is the difference between CPM and PERT?
(b) What is a critical activity as far as CPM is not considered?

(c) For the following table construct a project network. 2+2+6

Activity Predecessor(s) Duration (weeks)

(8]

Manuscript proofreading by editor -

Sample pages preparation —

SO ]

Book cover design -

Artwork preparation -

)

m O 0w »

Author’s approval of edited
manuscript and sample pages A, B

Book formatting E

N T N

Author’s review of formatted pages F
Author’s review of artwork D

Production of printing plates G, H

SN -

Book production and binding C; 1




|Z(5ﬂ: Sm.)-Comlrcr Sc.-HIDSE-B-1 & DSE-B-2/CBC. .9 ( 4 )

&£
1. Answer any five questions :

(a)
(b)
(c)
(d)
(e)
®
(2
(h)

()
(b)
(©)

(a)

(b)
()

(a)
§b)
(©)

Paper : pSE-B-2
(Programming Using Python)
Full Marks : 50

. ions from the rest.
Answer question no. 1 and any four questio

245
Define Python interpreter.

Write down characteristics of Tuple data type.

“There is no use of + operator in Python strings.”— Comment.
Identify different string formats available in Python with example. -
Write down usage of pass statement with a small code snippet.

Briefly discuss about negative indexing in Python string.

Let Listl = [‘1’, “@’, “abc™, 27, “Def”, ‘z’], what is the output of Listl.sort( )?
Let Dict = {x : x”*3 for x in range(10) if x % 2 = = 1)} print(Dict). Write the output.

Write a program in Python to reverse a string givep as user input.

What do you mean by deep copy and shallow copy i, Python?

: ippet illustrating MRO (Method R : . .
Write a code snippe 4 esohltlon Order) 1n multlp]e lnhentance. 3+3+4
. o soli ings. What jon?
Discuss the method to split Python strings iS the fune: 1 operaltic
Give examples. ction used to perform the said °P
Differentiate dynamically typed language from Statically typed la i itable examples
What is the purpose of range( ) function and hoy, i ¥ BHage; GiLye SHLE

i +2
S 1t ugeq in 444

. list type?
Explain the steps involved in opening and closing , file i,

X ) e Python,
Write a code snippet to sort a list containing nameg of

rde r.

le
]
with a suitable example. Uimes

the | i ding ©
Write down the method that tells us about the Numbey o nonths of o year in descer tup
. i a
a specified value appears . 442

Consider 2 Python dictionary, student_records, represepy,; . ¥

i he subjects t} tng ing
ecord includes their name, age and the subj 1Y are
T
@ Create a dictionary with a student name as Amap,
a

! Cas
(b) Add another record for a student named Binay, Ay, as

t's
'mat; tuden
enrolledatilnon about students. Each ®
9 )
and Subject as ‘CMSA™

nd Subject a5 ‘ZOOA’.
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(d)
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7. (@)
(®)
(©)
(d)

8. (@
(®)
(c)
d
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g n. :
s and print the age of Ama rint eac )
Acces P g " cords and p h student’s name, age an( subject on

. ; dent
Write a lqop to iterate over the st 3424243
separate lines.

t from a list with examples.
Discuss different ways of deleting an cleme? P

What is the purpose of self keyword?

iven below :
Write down code snippet for the problem &

There is a class AccountBalance if python tha.t has member variables : accountnumber,
customername and balance. Write necessary functions to show ot least tWo transactions with
respect to a deposit and a withdrawal from ai account. Now, withdrawal Is only possible if a
customer has maintained minimum of 1000.00 rupees in account. — Ensure it with checking in
function. _ - 3+1+6
What is Lambda in Python?

Differentiate between mutable and immutable data type in Python.

What is _ _ init __ ?

Discuss with a code snippet, input and output to remove white space from any position of a Python
string.

2+3+1+4
List two advantages of using a set over a list for certain operations in Python.
Explain the purpose of the pop( ) method for dictionaries in Python.
What is the use of ‘Del’ statement? Explain with example.

Explain how error handling works Python with suitable code snippet. 2424244
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